MCQ Evaluation Polymer game
To answer after the game

What is the very first step of the free radical polymerization process?
· Decomposition of initiator
· Addition of free radical to monomer
· Disproportionation
· Chain transfer
Which one of the following mechanisms can lead to a termination step?
· Combination of two growing chains into one polymer chain
· Using up all the monomer
· Decomposition of a chain transfer agent
· Quenching of the reaction by cooling
What is the role of chain transfer agents (CTA) and how to use them?
· CTAs are used to increase the molecular weight of polymer and increase the polydispersity index
· CTAs are used to limit the polymer molecular weight and obtain a low polydispersity index
· CTAs are used to generate copolymers
· CTAs create living polymers chains
What is the role of (2,2,6,6-Tetramethylpiperidin-1-yl)oxyl?
· Initiate polymer chain
· Limits the growth of the polymer chain
· Avoid irreversible chain termination
· Catalyse polymerization
Which of the following monomer A and monomer B arrangement best depicts a block copolymer (A and B are monomers)?
· AAAAABBBBBB
· ABAABAABBBA
· ABABABABABA
· ABBA ABBA
What is the best strategy to get high molecular weight and low PDI?
· Avoid chain termination
· Create copolymers
· Initiate a maximum number of chains
· Limit the number of living chains
